1. TE4
TE4 AN B A T IR A ] 1 S e M KRR RS
T4 o] 1L R 74 10 R L T 38~ Y P N
2. THENE
1)  FEFH 45Fn 54 5 H 12) ®HFA 4Fn 54 21
2)  FHEI4 WLEE ST TER 13) HEWIEE—FERE S — R 0%
3) ILEHEES 4240010004 14) H/h@EAFEA 20234 4H
4) TSy HAERE (BulzEte) onfTE 15) SHEEHFEA 20234F 44
5) ZEHE[EFK 0f=] 16) AR TEYE 0
6) £ T f B HHMERr T 17) HwiEGAres 0
7) L HF & 18) FH%¥ X% 0
8) I 211 H R 0 54 68 1H 19) R ETSH
(%9) & 54E12H 28H 20) HGEHEERMA
( oEZEwH) £ A H 21) —EHEBRSNGHE
9) i T W fif] 11 B 22) Moy E 23, 598, 000
10) X FH I 23) XA\ %H 570 54 2H28H
11) I - AR — % EE 2 5 24) AL & 8 B #£ A H
3. FERH
1) THEEE: 2) 3)  HOHS FEL

[E-Amd T ET R




At

THE4 AN B A T IR A ] 1 S e M KRR R 3 FEXy R - & HE
THEX5 HEFF
TEHERXSy - TR - R - ) HIrE ==Yy Ya ==X SHH Fea bk SRR SES
B FEHERT
= 1 45, 558, 450
T
= 1 45, 558, 450
BT
= 1 45, 558, 450
(%73 [Ty
m2 27, 000 516 13, 932, 000
FRAERA T AR - AR H-2%5
Z2m3 5, 130 1, 565 8, 028, 450
ARA ALy (BN H-3%5
72m3 3, 591 4, 000 14, 364, 000
ARA ALy AR H-4%5
72m3 1,539 6, 000 9, 234, 000
[ERAE Xy
= 1 45, 558, 450
IR &
= 1 2,720, 000
BISTI S
= 1 292, 000
BGRESGES (5 1)
= 1 292, 000
s E (i)
= 1 2. 428, 000
-1- E Ay PEH TR




Fﬂn+mnﬁ =

THE4 TN 5 AR EE T AT i 1 L P X R ER R 2 (i) FEXy B BEHMERR - (508
THEX5 B FEHERT
TEHERXSy - TR - R - ) HIrE ==Yy Ya ==X SHH Fea bk SRR SES
T
= 1 48, 278, 450
Bl gy
= 1 10, 924, 000
T =5l
= 1 59, 202, 450
— R A
= 1 7,127, 550
T =AM
= 1 66, 330, 000
THE BiAH 4 %A
= 1 6, 633, 000
TEHF
= 1 72, 963, 000
-2 - E Ay PEH TR




NN 2

1 7 B AL A A 2023. 04

kﬁﬁﬁ% HRHEME AR 2023. 04
5 S IRTELR S 1. 000-00-00-2-0

524 -
W15 HA | m2 e HiAl
1 516
SR HkE HAfL R Hifh AR ik 5L
ek AR (1) 104/100m28L 504 /100m2 45 WYB00021
m 2 1 516 516 |H— 5%
516
Hifh
516 M./ m2

B AL A A 2023. 04

HRHEME AR 2023. 04
5 S IRTELR S 1. 000-00-00-2-0

(P52 % STEX % NEE P i
2% B | Zem3 e HiAl
1 1, 565
SR HkE HAfL R Hifh AR ik L
AR (10t) A - HR DIDA Y 15. Skmi#22. SkmLd T WYB00009
7€m 3 1 1, 565 1,565 |H— 6%
1, 565
R
1, 565 M,/ ZZm3

B mxmdg P E R




1 ﬁiﬁﬁi@ A {1 FF 4 2023. 04
HHME A A 2023. 04
TS ALK 1. 000-00-00-2-0
BRIy A
BT 5 Hfh
1 4, 000
: SR HAfL & ik 5L
m3) WYB00027
Z%m 3 1 4,000 |¥— 78
4,000
Hifh
4,000 M,/ %Em3
ATt FH 4R A 2023. 04
HHME A A 2023. 04
TS ALK 1. 000-00-00-2-0
RERALLSS AR
BT 5 Hfh
1 6, 000
: SR HAfL & ik L
m3) WYB00005
Z%m 3 1 6,000 |H— 8%
6, 000
R
6, 000 M,/ ZZm3

B mxmdg P E R




I FE IR A LA 2023. 04
Z = 1 .
SE5ER (1) S P 47 2023, 04
TS ALK 1. 000-00-00-2-0
524 AR () 104/100m2Ph 5045 /100m2 A5
H—5% = -71vA m 2 B HAATG
1, 000 516
SR HkE HAfL R AT AR LES
TR EE
N 3 24, 780 74, 340
FPEREEER
N 6 22, 470 134, 820
EHEFER
N 6 19, 635 117, 810
Fe =0 ) vzyy” /] E s # F-600mmHE 5 ££0. 080L WYB00022
A 6 924 5,544 |H— 9%
T A BE AN 9 RS HEHID™ A5t 3R (290) WYB00023
H 3 51, 430 154,290 |H— 105
MR (B+FE D)
6%
= 1 29, 196
516, 000
HAATG
516 M,/ m2

B mxmdg P E R




Z H IR B 7 4 2023. 04
Z
55wk (1) S 4 A 2023. 04
TS ALK 1. 000-00-00-2-0
AR (10t) A - HR DIDA Y 15. Skmi#22. 5kmLd T
H—65 BT Z%m 3 ik Hfh
10 1, 565
SR s B Bk Hifh Bl ik 5L

TR (— %)

A 0.28 20, 055 5,615
R

L 18.8 136 2, 556
HoFNFw s [Fra—RF 1 —EnL] 10 tfEkk

S| 1.67 4,330 7,231
AT Ty [Fra—F-F4—¥)L] A A

S| 1.67 145 242
M (E5H0)

= 1 6

15, 650
R
1, 565 M,/ %%m 3

B mxmdg P E R




*ﬂ» (]ﬁ) B 4R A 2023. 04
HRHEME AR 2023. 04
TS ALK 1. 000-00-00-2-0
W53# (Z25m 3)
BT 5 Hfh
100 4, 000
2] \ BT & ik 5L
(B¥N WYB00028
7m 3 400, 000
2
400, 000
Hifh
4,000 M,/ %%m 3
B AL A A 2023. 04
HRHEME AR 2023. 04
TS ALK 1. 000-00-00-2-0
5% (22m 3)
i | % & Bl
100 6, 000
2] \ BT & & ik L
AR WYB00006
Z¢m 3 600, 000
g
600, 000
R
6, 000 M,/ %%m 3

B mxmdg P E R




Z RN H it R 7 9 2023. 04
= )
55 (2) S 4 A 2023. 04
TS ALK 1. 000-00-00-2-0
Fer)=[0 ) vzry v ]k H8-=-600mmiES &0, 080L
H—95 HAfrL ik Hfh
1 924
SR HkE HAfL Bk Hifh & ik 5L
HY L¥aT—
L 3.2 144 460
FxrV— [V r] #8E600mm HXEO. 080L
HEH A 1 464 464
M (E5H0)
= 1 0
924
R
924 M/ H

B mxmdg P E R




= E IR A LA 2023. 04
Z =S 2 .
SERR (2) S A 2023, 04
TS ALK 1. 000-00-00-2-0
T A BE AN 9 RS PEH 2t SRR (20%)
H—10% HAfrL R HAATG
1 51, 430
R HkE HAfL R AT AR LES

EIATF (Reik)

N 1 22,575 22,575
LS

L 60 136 8, 160
2 BAME1700~2000JNfE400~750mm

HEH A 1.62 2,270 3,677
Ny ZRY (Fme—7) [HFE4E] Pl 2B (E2%) IO, 45m3

HEH A 1.62 10, 500 17,010
MR (£50)

= 1 8

51, 430
HAATG
51, 430 M/ H

B mxmdg P E R






